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��������	
�����
�������	���������� (volatile organic compounds, VOC)     
�	
.//0�1	2�3	45	�2�6�72�8�
9:	 �	;7��/�����
���<14
���0<������2
	�=��>? @97�2����������
��	�����������?���	�=<?��A ��?	 5�B8��	 (toluene) C@B�	 (xylene) ��	@�	 (benzene) 
HB�5�I���2 (chloroform) ��@�5<	 (acetone) �2L�B ���L�B H�5<	 (methyl ethyl ketone, MEK) 
3B�   �2��	�B (methanol) 5=��0<������2��72������� VOC �	����4	���QB�< C=�3�? �0<���
���26�B��2��� �0<������2�� �0<������2�HB;��Q�4 �0<������2�I���	��/��� �0<���
���2���QB�<�R�	<�  <B�=/	����
S	<14�T�B�B���6;7�B�����:	�?4	<?��A 
���H�;7��/1���	
1:	<�	
���@?�2�T��0� /���0<������2
���<�	 �?�QB��� VOC �?4	�	97����=���
	�
UV�	�		:T���:�
��5��
��	 @97�	:T������?�	�
���8?�����T��1= VOC ��7
	�
UV�	��8?	1:	��2��R���=�������� 3B�36�?
���/��C=� (Nikolaou et al., 2002; Dubray and Vanderschuren ., 2004; Quigley and Corsi., 1995)
	��/��	�:	:T�������7�
���8?�����T��1= @97��?4	��>?2�B1�ab��
S	3�B?�	:T��
c= 2�QB��� VOC ��7��B;�
��8?��2��R���������8?�������dC=� 5=���d1����3�B2��761=Q?�	Q�4	:T� �0b�e82�
��3�B?�	:T� 
<B�=/	����4	����<�2����d�	
1:	<�	����T��1=	:T����� (Chern and Yu., 1999) ��������
�� 
VOC /��	:T������8?�������d 	��/��/��?�������=2Be�4��������d3B�4 �1��?�QB�����<?��0

e�6
����7�2���4�<�1:�H	 �1<4� 3B�6;�5=�<�� @97��
S	
.>����7H4���3	4���3��C
<?�C


�������R9�
��2�b��������
�� VOC /��3�B?�	:T������	�?4��4B���7�	�/�
S	
��7�/T��
S	�T���1������3	4���
g���1	
.>��2Be�4��������d /��
��28B��������
�� VOC  
�	�����T��1=	:T�����
�� EPA (http://www.epa.gov/) 6�4?� �1m WASHINGTON,  UTAH, 
LOUISIANA 3B� VIRGINIA 
����d���1m��2���� �	
w H.d. 1993 2���������
�� VOC ����8?
�������d�42 1015.33  <1	<?�41	 @97��
S	
��2�b��7�8�2�� ��?��C��y<�2���d9�a���������
�� 
VOC /�������T��1=	:T������	
����dC��2������	C4�	���2�� �42R9��
S	���d9�a���7/T��1=��8?
�	��=1�����
z��1<���� 3B����	:T������1��H������	����=B�� 5=�6�4?�
.//1���72�QB<?���������

�� VOC /��3�B?�	:T��
c= C=�3�? H4�2��y4B2��	;�Q�4	:T� 3B��0b�e82�
��3�B?�	:T� (/�1> 3B�
Hb� 2544, Bunyakan et al., 2001) �T���1���	4�/1�	�:2�41<R0
����H��6;7�d9�a�
.//1���72�QB<?����
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�����
�� VOC /��	:T�����/��� @97�
�����=�4� �1<���?4	���4?��6;:	��7
����������<?�H4�2B9�

��3�B?�	:T� 
��2�b
��
��3
y�3
4	B���		:T����� H4�2��y4B2��	;�Q�4	:T� 3B�����4	���
�?���B�����/0B�	�����
�� VOC �		:T����� 5=�
��28B��7C=�/�����d9�a�/�	T�2�61|	��
S	3��
/T�B���T���1��T�	����������
�� VOC /��	:T������8?�������d<?�C




������	


1. 3��/T�B���174C
 (General Fate Models, GFM)
3��/T�B���174C
 (GFM) H;� 3��/T�B����7������=0B24B����	���HT�	4b

�~6��
���
<��7�	�/d9�a� �T���1���b���������
�� VOC �	�?��T��1=	:T�����	1:	 ���41=���
�����
�� VOC 5=�<���	����d/�����H?����/?���	�����y�<14��?��3B�H?�4��H�������7�8� �2;7�
������1�������3��/T�B���174C
 @97�2�H4�2�;=��0?	�	���4��H�����2���4?� 5=�3��/T�B���174C

/�6�/��b����	���
��	:T�������7�
���8?�����T��1= ����C�B�4��	���	�B1� ��������
�� VOC 
���=8=@1��	Q�4
��3
y� ���������	;7��/������4	����<�2����d 3B�����?���B��5=�       /0B�
	����� �42�1:�	:T�������7���/�������T��1=	:T����� �
S	<�	

3��/T�B���174C
��7����1������T��1=	:T�����	1:	/T��
S	/�<���2�
��28B�6;7�����	
������3�� @97���2��R3�?�C=��
S	 3 �B0?2
��28B@97���2��R3�?�C=�=1�	�:

�B0?2��7 1 B1�ab�
��	:T�����
��
��
�����=�4�
- �1<�����C�B�
��
��	:T�����
- �0b�e82�
��	:T�����
- �0b�e82�
������d
- H4�2�
�2
�	
�� VOC
- H4�2��y4B2��	;�Q�4	:T�

�B0?2��7 2 B1�ab����e�6
��3�B?�	:T�
�����=�4�
- H4�2�4��� ��4 3B�B9�
��3�B?�	:T�
- B1�ab�
���?��T��1= ��?	 �?��
S	�	�=3��
c= ��;��
c=�8?�������d

�B0?2��7 3 
��28B���=T��	�	���
�������T��1=
�����=�4�
- �	�=
��/0B�	������	�����T��1=
- �1<������<�2����d
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- H4�2�
�2
�	
�����@��/	��7B�B��	:T� �
S	<�	

3��/T�B���174C
�
S	��7��2�1��1	��?���4���
4���	����T�	����������
��
���<?��A �	�����T��1=	:T����� 5=� USEPA �
S	����	97���H�����7��������2�1�3��/T�B���174C
 
5=�3��/T�B���174C
/��
S	
��5��	��	����T�	����������
�� VOC e���<��e�4���7�T��	= 
3B��?4�����
���/�������� ����
B�7�	3
B�H4�2�
�2
�	
�� VOC @97�/��
S	
��5��	��	���4��
3Q	H4�H02�����T��1=	:T��������2�
�����L�e�6<?�C


2. �2����12
�����L�����R?��5�	24B
�2����12
�����L�����R?��5�	24B (mass transfer coefficient) @97���2��R3�=�

�	�8

���12
�����L�����R?��5�	24B�42 (overall mass transfer coefficient, KOLa) �12
�����L��
IcB�23��� (gas-film coefficient, kGa) 3B��12
�����L��IcB�2
����B4 (liquid-film coefficient, kLa)
3��/T�B��
���12
�����L�����R?��5�	24B2������	C4�����8
3�� H;� 3��/T�B��<�23	4
H4�2H�= 3B�3��/T�B����7�
S	�2�����y26���H1B @97�/���8?�	6;:	m�	����=B��

2.1 3��/T�B��<�23	4H4�2H�= (Conceptual model)
3��/T�B��<�23	4H4�2H�= /1=�
S	3��/T�B����;:��<�	 ��7��2��R�L����e�6

6/	�
���12
�����L�����R?��5�	24B @97�3��/T�B��<�23	4H4�2H�=/�
�����=�4� ��az����
IcB�2 ��az�����
B�7�	Q�4 ��az��1:	
���
< 3B���az������B0��B4�

2.1.1 ��az����IcB�2 (Two-film model, Mccabe et al., 2001)
Whitman (1924) ��	���az����IcB�2 5=��22<����IcB�2	�7����IcB�2��8?���4?��

Q�4�12Q1�
��3�B?�	:T�3B�����d �12
�����L�����R?��5�	24B�T���1����36�?Q?�	IcB�2
����B4
	�7� H;� �1<���?4	
���12
�����L�����R?��5�	24B�T���1����36�?
��52�B�0B<?�H4�2�	�
��
�1:	IcB�2 =1��2���

G

G

G

D
k

δ
=
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L

L

L

D
k

δ
= (1.1)

�2;7� kG = �12
�����L��IcB�23���, m s-1

kL = �12
�����L��IcB�2
����B4, m s-1

DG = �12
�����L�����36�?
��52�B�0B�	41�e�H3���, m2s-1

DL = �12
�����L�����36�?
��52�B�0B�	41�e�H
����B4, m2s-1

δ = H4�2�	�
���1:	IcB�2, m

/����a�����IcB�2��2��R�T�	��C=�4?� �12
�����L�����R?��5�	24B3
�Q1	
5=�<���1��12
�����L�����36�?
��52�B�0B���
����� ��?��C��y<�2�12
�����L�����R?��5�	
24B/�
9:	��8?�1�B1�ab�
����7�34=B��2�;7	A C=�3�? H4�2��y4B2 H4�2�	;= H4�2�	�3	?	 3B� 
�0b�e82�
��
����B4@97�/�2�QB<?�H4�2�	�
���1:	IcB�2

2.1.2 ��a�������B0��B4� (Penetration theory, Maucci et al., 2001)
Higbie (1935) ��	���a�������B0��B4��6;7�����L�����1<���174H�8?
�����36�?

�
���8?
��C�B��7H?�	
����	� @97�H4�2�
�2
�	��7Q�4�12Q1�H���7 5=��22<�4?�2����3�4	/��
��C�B
�1BH��
���8?����4bQ�4�12Q1� 5=�52�B�0B��736�?/�C2?��2��R�HB;7�	��7C
�1����=��	
���1:	���A C=� 
����e�4���7���=C2?H�<14 3B������4B�
������12Q1��1:	 @97�/�C=��12
�����L����R?��5�	24B
<�2�2��� 1.2 @97���a��	�:�T�	��4?�H?��12
�����L�����R?��5�	24B3
�Q1	5=�<���1������7���

���12
�����L�����36�?

5.0

 
2 







=
t

D
k

π
 (1.2)

�2;7� k = H?��12
�����L�����R?��5�	24B, m s-1

D = �12
�����L�����36�?
��52�B�0B, m s-1

t = �4B�����12Q1��~B�7�, s
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2.1.3 ��a������
B�7�	Q�4 (Surface Renewal theory, Maucci et al., 2001)
Danckwerts (1951) ��	���a������
B�7�	Q�4 @97��
S	��a����7
�1�
�0�/����a��

�����B0��B4� 5=�/�6�/��b��	��b���7Q�4
����:	�?4	
��
��C�B (fluid element) R8�3�	��7
=�4�
��C�B��2?/�����3��1B�H H?��12
�����L�����R?��5�	24B3�=�=1��2��� 1.3 @97�/���2
�����2��R�T�	��C=�4?�H?��12
�����L�����R?��5�	24B3
�Q1	5=�<���1������7���
��
�12
�����L�����36�?
��52�B�0B @97��2;7�6�/��b��	������e�66�4?� ��a��	�:/���B��H����1�
�e�4�/���2���4?���a�����IcB�2 3<?��?��C��y<�2��a������
B�7�	Q�4	�:C2?�
S	��7	��2�	���	T�
C

���0�<����/��� �	;7��/��6���2��<�����7���7�4
���C2?��2��R41=C=�5=�<��

( ) 5.0τDk = (1.3)

�2;7� k = H?��12
�����L�����R?��5�	24B, m s-1

D = �12
�����L�����36�?
��52�B�0B, m s-1

τ = average residence time for an element in the interface, s

2.1.4 ��a���1:	
���
< (Boundary layer theory, /0C�41B��, 2546)
Prandtl (1904) ��	�3	4H�=
���12
�����L�����R?��5�	24B/����a���1:	


���
< @97�2�H4�2HB���HB9��1����d9�a��Bd��<��
��
��C�B 3B����R?��5�	H4�2���	Q?�	
3Q?	��� (flat plate) 	17	H;��2;7�
���
<��8?�	�?4��������� (laminar) @97�2��B
 Reynold 	����4?� 3 
×105 H?��12
�����L�����R?��5�	24B��2��R��C=�/���2���

33.00.5Re 664.0 Sc
D

kL
= (1.4)

�T���1����C�B�	�?4�
.�	
�4	 (turbulence) @97�2��B
 Reynold 2���4?� 3 ×105 H?�
�12
�����L�����R?��5�	24B��2��R��C=�/���2���
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8.033.0 Re 370.0 Sc
D

kL
= (1.5)

�2;7� k = H?��12
�����L�����R?��5�	24B, m s-1

D = �12
�����L�����36�?
��52�B�0B, m2 s-1

L = H4�2��4
���6B����, m
Re = �B
 Renolds
Sc = �B
 Schmidt

2.2 3��/T�B���2�����y26���H1B
3��/T�B���2�����y26���H1BR8�	T�2����3�	3��/T�B��<�23	4H4�2H�=�	;7��

/��6���2��<�����7���7�4
���
��3��/T�B��<�23	4H4�2H�=C2?��2��R41=C=�5=�<�� 3B� �e�4�
����=B����7	T�2������8?�	�?4��4��� �T����H?���7C=�2�H4�2HB�=�HB;7�	��2� =1�	1:	/9�<���2����
<�4/�����;7�	C
3B�6���2��<��������B��H����1��e�4�����=B���6;7����QB���HT�	4b2�H?�
HB�=�HB;7�		�����7�0=

3. ��a�����IcB�2 3B��12
�����L����R?��5�	24B�42 (�2��e�b�, 2545)
����4	���������
S	���R?��5�	24B
�����/��3�B?�	:T�Q?�	Q�4�12Q1�

���4?��	:T�3B�����d @97���2��R�L����5=������a�����IcB�2
�� Whitman (1924) 5=��22<�4?� 
41�e�H
����B4��72�B1�ab��
S	�	;:��=��4�1	@97�3��/��41�e�H����d5=��1:	IcB�2���A ���4?��

����B43B�����d 5=����R?��5�	24B���=/�����36�?
��52�B�0B
��2Q�4�12Q1����4?��41�
e�H�1:����3B��22<�4?�Q�4�12Q1���8?�	�R�	�H�<14

�1<����������
�� VOC /��3�B?�	:T���7�4B��=A (RVOCs) ��2��RHT�	4bC=�5=�
�����a�����IcB�2 =1��2���









−=

RT

HC
CaKR

tG

tLOLVOCs

,

, (1.6)

�2;7� RVOCs,t =    �1<���������� VOCs ��7�4B� t , mol s-1
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KOL =   �12
�����L�����R?��5�	24B�42�2;7�������1�41ze�H
����B4, m s-1

CL,t =   H4�2�
�2
�	
�� VOC �	41�e�H
����B4��7�4B� t , mol m-3

CG,t =   H4�2�
�2
�	
�� VOC �	41�e�H3�����7�4B� t , mol m-3

H =   H?�H���7��	��7, atm m3mol-1

R =   H?�H���7���B3���, atm m3mol-1K-1

a =   6;:	��7
����������, m2

T =   �0b�e82��12�8�b�
��	:T�, K

��������e���<��e�4���76;:	Q�42�H4�2
.�	
�4	 �?�QB���6;:	��7
���������� (a) 
41=C=����3B�3
��
B�7�	C=�<�2��=1�
��H4�2
.�	
�4	 /9�	��2�
��	 Lumped Parameter �?42�1� 
KOL �	�8

�� KOLa @97��
S	���R?��5�	24B����
��2�<� (volumetric mass transfer coefficient)

/����a�����IcB�2 H?��12
�����L����R?��5�	24B�42�2;7�������1�41ze�H
��
��B42�H4�2�1261	L��1�H?��12
�����L��IcB�2
����B4 (kLa) H?��12
�����L��IcB�23��� (kGa) 3B�H?�
H���7
����	��7 (H) =1��2���

aHk

RT

akaK GLOL

+=
11 (1.7)

kLa =  �12
�����L��IcB�2
����B4 , m3 s-1

kGa =  �12
�����L��IcB�23���, m s-1

KOLa =   �12
�����L�����R?��5�	24B�42�2;7�������1�41ze�H
����B4 , m3 s-1

�T���1�����4	��������
�� VOC @97�2�����
B�7�	3
B�
��2�<�	���2���2;7�
������1�
��2�<��42�2;7��2=0B24B���R1������ /9���2��R�B?�4C=�4?� 
��2�<�
�����B�B��2�
H?�H���7<B�=����4	��� 5=�H4�2�1261	L����4?���1<���������� VOC ��7�4B��=A (RVOC,t) 

��2�<�
�����B�B�� (V) 3B�H4�2�
�2
�	
�� VOC �	41�e�H
����B4��7�4B��=A (CL,t) C=�=1�
�2���

dt

dC
VR

tL

tVOC

,

, −= (1.8)
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�2;7�  V =  
��2�<�
�����B�B�� , m3

CL,t =  H4�2�
�2
�	
�� VOC ��7�4B��=A
   t =  �4B���7��� , s

�T���1���b���72����3�B261=Q?�	Q�4	:T� 6�4?� H4�2�
�2
�	
�� VOC �	41�e�H
3���2�H?�	���2�� �2;7�������1�H4�2�
�2
�	
�� VOC �	41�e�H
����B4 �	;7��/�����3�B261=
6� VOC ���C
�1	����7 VOC �����
9:	2�/��3�B?�	:T� =1�	1:	�2��� 1.6 ��2��R�
��	��2?C=�=1�
�2��� 1.9 3B��T�����42�2��� 1.8 3B� 1.9 C=� H4�2�1261	L�=1��2��� 1.10

tLOLtVOC aCKR ,, = (1.9)

V

aCK

dt

dC tLOLtL ,, −= (1.10)

�T������	�����<�2��� 1.10 /���4B���?��1�d8	��@97�H4�2�
�2
�	
�� VOC �	41�
e�H
����B4��?��1� CL,0 R9��4B� t �=A @97�H4�2�
�2
�	
�� VOC �	41�e�H
����B4��?��1� CL,t 

/�C=�H4�2�1261	L����4?�� KOLa �1�H4�2�
�2
�	
�� VOC �	41�e�H
����B4��7�4B��=A =1��2
���

V

atK

C

C
OL

L

tL −
=

0,

,
ln (1.11)

/���2��� 1.11 ��2��R��H?� KOLa 
��3<?B�����=B����7�e�4�<?��A C=�/��

H4�2�1	
�����I��76B��<���4?��
0,

,
ln

L

tL

C

C  �1� t 
������=B��	1:	A 3B�H?� KOLa H;�

slopeVaKOL −= (1.12)
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�1<����������
�� VOC ��7�4B��=A ��2��R��C=�/��QBH8b
��H?� KOLa �1�
H4�2�
�2
�	
�� VOC �	41�e�H
����B4 (<�2�2��� 1.9) �T���1��1<����������<B�=
����4	�����2��R��C=��	�T�	���=��4�1��2��� 1.9 5=����H4�2�
�2
�	�~B�7�3�	H4�2�
�2
�	
��7�4B��=A =1��2���

avgLOLavgVOC aCKR ,, = (1.13)

�	;7��/���	����4	�������� ���B=B�
��H4�2�
�2
�	 VOC ��7d9�a�2��8

3�����@�56�		����B =1�	1:	����~B�7�3��B������92 (log mean average) /9��
S	�8
3����7��2��
�2 @97��2��� 1.13 ��2��R�
��	��2?C=�=1��2���

( )

0,

,

0,,

,

ln
L

fL

LfL

OLavgVOC

C

C

CC
aKR

−
= (1.14)

4. �����H?��12
�����L��IcB�2
����B4 (kLa) 3B��12
�����L��IcB�23��� (kGa) (
����e�b�, 2544)
4.1 �12
�����L��IcB�2
����B4 (kLa)

�12
�����L��IcB�2
����B4 (kLa) ��2��R��C=�/������4	��������
�� VOC 
��72�H4�2<��	��	<?����R?��5�	24B�	41�e�H
����B4 5=� VOC ��B?�	�:2�H4�2��2��R�	���
B�B��	:T�<7T� �T����H?�H���7��	��72�H?��8��8� /���2��� 1.7 �2;7� H 2�H?��8� ��2��R�
��	��2?C=�=1��2
���

akaK LOL

11
= (1.15)

/���2��� 1.15 ��2��R��H?� kLa C=�/�����41= KOLa /������4	��������

�� VOC ��72�H?� H �8� �T���1� VOC ��72�H?�H���7��	��72���4?� 5 × 10-3 atm m-3 mol-1 H4�2<��	��	
<?����R?��5�	24B
�� VOC �B0?2	�:/���8?�	41ze�H
����B42���4?�����B� 90 <14��?��
�� 
VOC �	�B0?2	�:C=�3�? 5�B8��	 3B���	@�	 @97�2�H?�H���7��	��7��7 25°C ��?��1� 6.64×10-3 3B� 5.5×10-3

atm m-3mol-1 <�2BT�=1�
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4.2 �12
�����L��IcB�23��� (kGa)
�12
�����L��IcB�23��� (kGa) ��2��R��C=�/������4	��������
���������0�L��

�	;7��/������4	��������
���������0�L��/�C2?2�H4�23<�<?��
��H4�2�
�2
�	���=
9:	 /9�C2?2�
H4�2<��	��	<?����R?��5�	24B�	41�e�H
����B4 3<?H4�2<��	��	<?����R?��5�	24B��7���=

9:	�	����4	��������
���������0�L��/���8?�	41�e�H3����1:��2= ��?��C��y<�2�	���
z��1<� 
����=B����������
���������0�L���	R1������
	�=��>?3B�2����3�B261=Q?�		1:	�
S	��7���7
C2?��2��R����T�C=� =1�	1:	/9�<���d9�a���H?� kGa /����������
�����
�������	����������
�?����7�����C=�/��41�e�H
����B43�	 5=�������
�������	�����������?����72�H4�2��2��R�	
���B�B��	:T��8� @97��
S	�����72�H?�H���7��	��7<7T� �2;7� H 2�H?�<7T�2��A �2��� 1.7 ��2��R�
��	��2?
=1��2���

aHk

RT

aK GOL

=
1

��;�
H

aRTK
ak OL

G = (1.16)

 /���2��� 1.16 ��2��R��H?� kGa C=�/�����41= KOLa /������4	��������

�� VOC ��72�H?�H���7��	��7<7T� 5=� VOC ��72�H?�H���7��	��7	����4?� 5 × 10-6 atm m-3 mol-1 /�2�H4�2
<��	��	<?����R?��5�	24B �	41�e�H3���2���4?�����B� 90 <14��?��
�� VOC �	�B0?2	�:C=�3�? 
�2��	�B @97�2�H?�H���7��	��7��7 25°C ��?��1� 3.77 × 10-6 atm m-3 mol-1

5. H4�2�1261	L����4?���12
�����L�����R?��5�	24B�1��2�1<�
��52�B�0B (�2��e�b�, 2545)
5.1 H4�2�1261	L����4?���12
�����L�����R?��5�	24B�1��2�1<�
��52�B�0B

�����36�?
��3��3�2 (Graham�s law of diffusion) H?��12
�����L�����R?��5�	
24B/�3
�Q1	5=�<���1�	:T��	1�52�B�0B=1��2���

5.0−= bMk (1.17)

/���2��� 1.17 ��2��R�
��	H4�2�1261	L����4?�� kLa 3B� kGa �1�	:T��	1�
52�B�0B
�� VOCs �=A C=�=1�	�:
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5.0−= Mbak LL (1.18)
3B�

5.0−= Mbak GG (1.19)

�2;7� kLa = H?��12
�����L��IcB�2
����B4, m3.s-1

kGa = H?��12
�����L��IcB�23���, m3.s-1

bL, bG = H?�H���7
M = 	:T��	1�52�B�0B, g mol-1

�2��� 1.18 3B� 1.19 ��2��R3�=�H4�2�1261	L����4?�� kLa 3B� kGa 
�� 
VOCs �=A �1� kLa 3B� kGa 
�� VOC �������C=�=1��2��� 1.20 R9��2��� 1.21

5.0

ref VOC,
),()( 








=

VOC

LL
M

M
refVOCakVOCak (1.20)

5.0

ref VOC,
),()( 








=

VOC

GG
M

M
refVOCakVOCak (1.21)

�2;7� kLa (VOC) = �12
�����L��IcB�2
����B4
�� VOC, m3.s-1

kGa (VOC) = �12
�����L��IcB�23���
�� VOC, m3.s-1

kLa (VOC,ref) = �12
�����L��IcB�2
����B4
�� VOC �������, m3.s-1

kGa (VOC,ref) = �12
�����L��IcB�23���
�� VOC �������, m3.s-1

MVoc = 	:T��	1�52�B�0B
�� VOC, g gmol-1

MVoc,ref = 	:T��	1�52�B�0B
�� VOC �������, g  gmol-1

5.2 H4�2�1261	L����4?���12
�����L����R?��5�	24B�1��12
�����L����36�?          
(�2��e�b�, 2545)

5=��174C
H?��12
�����L�����R?��5�	24BR8��22<����3
��
B�7�	<�2�12
��
���L����36�? (Diffusion coefficient) =1��2���
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n
aDk = (1.22)

�2;7� k = �12
�����L�����R?��5�	24B
�����, m s-1

a = H?�H���7
D = �12
�����L�����36�? (Diffusion coefficient), m2 s-1

n = �12
�����L��

/���2��� 1.22 H?� n 
9:	��8?�1�3��/T�B����7��� 5=�3��/T�B�����IcB�2 (two 
film model)  H?� n ��?��1� 1.0 3��/T�B�������B0��B4� (Penetration model)  H?� n ��?��1� 0.5 
3B�3��/T�B��IcB�2-�����B0��B4� (film-penetration) �T��	=���H?� n 
9:	��8?�1��e�4�
�����
Q�25=�H?� n 2�H?���?��1� 0.5 �T���1����Q�2��7=� (high mixing conditions) R9� n = 1.0 �T���1�
�e�4���72����Q�2<7T� (low mixing conditions) /���B1����H4�2��2;�	���4?�����R?��5�	24B
3B����R?��5�	H4�2���	 (heat transfer-mass transfer analogy) 
�� Sherwood and Pigford 
(1952) /�C=�H?� n ��?��1� 0.667 3<?/������=B��
�� Merchuk (1952) 6�4?� H?� n = 0.684 /����
QB����=B����=HB����1�3��/T�B��2����7�0=�2;7���������
���������0�L��2�����HB;7�	C�4

���1H�B2�� �T���1���������
�����B�B����72�H4�2�
�2
�	<7T� Tamir 3B�Hb� (1979) �B?�44?� 
H?� n ��7��2���2 ��?��1� 0.632 Gilland and Sherwood �T�����=B���������
����B4 9 �	�=�	 
wet-wall column 5=��������dC�B3��
.�	
�4	C=�H?� n = 0.56 ��=HB����1�����=B��
�� 
Dewulf et al. (1998) @97��B?�44?�H?� n 
9:	��8?�1��	�=
�����
����� 5=�2�H?���8?���4?�� 0.50-0.65 
Rathbun and Tai (1983) 6�4?�H?� n = 0.568 ���H?�H4�2Q�=6B�=	�����7�0=�2;7��
������������4?��
QB����=B���1�H?���7C=�/������T�	��/���2��� 1.22 /9���2��R�
��	H4�2�1261	L����4?�� kLa 
3B� kGa �1��12
�����L�����36�?
�� VOCs �=A C=�=1�	�:

n

LLL Daak = (1.23)

3B� n

GGG Daak = (1.24)

�2;7� kLa = �12
�����L��IcB�2
����B4, m3s-1
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kGa = �12
�����L��IcB�23���, m3s-1

aL,aG = H?�H���7
DL = �12
�����L�����36�?�	41�e�H
����B4, cm2 s-1

DG = �12
�����L�����36�?�	41�e�H3���, cm2 s-1

�2��� 1.23 3B��2��� 1.24 ��2��R3�=�H4�2�1261	L����4?�� kLa 3B� kGa

�� VOCs �=A ��?��1� kLa 3B� kGa 
�� VOC �������C=�=1��2��� 1.25 3B��2��� 1.26

n

liquidrefVOC

LL
D

D
refVOCakVOCak












=

−,

liquid-VOC
),()( (1.25)

n

gasrefVOC

GG
D

D
refVOCakVOCak












=

−,

gas-VOC
),()( (1.26)

�2;7� kLa(VOC) =  �12
�����L��IcB�2
����B4
�� VOC, m3s-1

kGa(VOC) =  �12
�����L��IcB�23���
�� VOC, m3s-1

kLa(VOC,ref) =  �12
�����L��IcB�2
����B4
�� VOC �������, m3s-1

kGa(VOC,ref) =  �12
�����L��IcB�23���
�� VOC �������, m3s-1

DVOC-liquid = �12
�����L�����36�?
�� VOC �	41�e�H
����B4, cm2 s-1

DVOC,ref-liquid =  �12
�����L�����36�?
�� VOC ��������	41�e�H
����B4, cm2 s-1

DVOC-gas = �12
�����L�����36�?
�� VOC �	41�e�H3���, cm2 s-1

DVOC,ref-gas =  �12
�����L�����36�?
�� VOC ��������	41�e�H3���, cm2 s-1

5.3 H4�2�1261	L����4?���12
�����L�����R?��5�	24B�1�<14�B

�� Schmidt (Mackay 
and Yeun , 1983)

Mackay and Yeun (1983) �B?�44?� �12
�����L�����R?��5�	24B
�����
�����
�=A 2�H4�2�1261	L��1��B
 Schmidt =1�	1:	�12
�����L�����R?��5�	24B
�����
������=A 
��2��R
���0�<�����1����
������;7	A 5=�����B
 Schmidt =1��2���

67.0−= LLL Sccak (1.27)
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3B� 67.0−= GGG Sccak (1.28)

�2;7� kLa = �12
�����L��IcB�2
����B4, m3s-1

kGa = �12
�����L��IcB�23���, m3s-1

cL,cG = H?�H���7

ScL =
LL

L

D ρ
µ = <14�B
 Schmidt �	41�e�H
����B4

ScG =
GG

L

D ρ
µ = <14�B
 Schmidt �	41�e�H3���

�2��� 1.27 3B��2��� 1.28 ��2��R3�=�H4�2�1261	L����4?�� kLa 3B� kGa

�� VOCs �=A ��?��1� kLa 3B� kGa 
�� VOC �������C=�=1��2��� 1.29 3B��2��� 1.30

67.0

,

VOC-),()(

−

− 










=

refVOCL

L

LL
Sc

Sc
refVOCakVOCak (1.29)

67.0

,

VOC),()(

−

−

−












=

refVOCG

G

GG
Sc

Sc
refVOCakVOCak 1.30)

�2;7� kLa(VOC) = �12
�����L��IcB�2
����B4
�� VOC, m3s-1

kGa(VOC) = �12
�����L��IcB�23���
�� VOC, m3s-1

kLa(VOC,ref) = �12
�����L��IcB�2
����B4
�� VOC �������, m3s-1

kGa(VOC,ref) = �12
�����L��IcB�23���
�� VOC �������, m3s-1

ScVOC-liquid = <14�B

�� Schmidt �	41�e�H
����B4 (C2?2��	?4�)
ScVOC-gas = <14�B

�� Schmidt �	41�e�H3��� (C2?2��	?4�)

H4�2�1261	L�<�2�2��� 1.20 1.21 1.25 1.26 1.29 3B� 1.30 ��2��R�T�	��H?� 
kLa 3B� kGa 
�� VOCs �=A 	T�H?� kLa 3B� kGa 3�	�	�2��� 1.7 �6;7���H?� KOLa @97���2��R��
H?� RVOCs ��;� NVOCs 
�� VOCs ��7�	�/C=�
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VOC �	�8

��<14�T�B�B��3B�<14R8�B�B����7����	5����	�0<������2�H2�
<?��A ��76�5=��174C
 3�=�=1�<������7 1 @97������	�����������?����B?�	�:��2��R�����
9:	�8?
�������d �?�QB<?���7�34=B��2 3B��0
e�6
��2	0a�� /����������	
��d8	��4����d��<��	�	�
��<� 6�4?� ���
�����C�5=�H�����	�
S	����<0�	97���7�?�������=5�H2���y� 3B����
�����4�
3�4	C�5=�H�����	�2;7��42<14�1����C@=�
��C	5<��/	/��?�������=�B0?2�2����7�
S	6�a<?���7�
34=B��2

<������7 1 �����	�����������?����76�5=��174C

   �B
��7 �����	�����������?��

  1 Acetaldehyde
  2 Acetone
  3 Benzene
  4 Carbon tetrachloride
 5 Ethyl acetate
  6  Ethylene glycol
  7 Formaldehyde
  8 Heptane
  9 Hexane
10 Isopropyl alcohol
11 Methyl ethyl ketone
12 Methyl chloride
13 Monomethyl ether
14 Naphthalene
15 Styrene
16 Toluene
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��72� : Khan and Ghoshol, 2000

�	�������������������

Bianchi and Varney (1998)
d9�a������	��������������4b32?	:T��2;�� Southampton 6�4?� ���R?��5�	24B


�������	����������2� 2 ����4	�����7�T�H1>H;� ����4	�������� 3B�����4	���=8=@1� @97�
����4	���������
S	����4	�����7�T�H1>��7�0=��72�QB<?�H4�2�
�2
�	
�����B�B�� 5=�6�4?�2�
��������
�������	�����
��2�b 300 ��5B��12<?�41	�	�=8�	�4 3B��8�R9� 2000 ��5B��12<?�41	
�	�=8���	 3B�����4	���=8=@1�/�
9:	�1�Q�4�	��
��
��3
y��	3�B?�	:T� �	����=B��6�4?� 
�����	�����/T�64����4�3�4	3B������72��28?��5B�/	�
S	��H�
�����/����=���=8=@1�C2?���	
����B� 5
Brida and Kee Ong (2001)

d9�a����R?��5�	24B
�� VOC �	���<14�B����72��86�0	3B���72<14=�4� VOCs 
���/0�	3Q?	��H��B��@97���4 17.5 cm �4��� 5 cm 3B�B9� 11 cm �	�052�H�B2 5=�H4�H02H4�2��y4
B2 ��?��1� 2.5 cm s-1 =T��	�	�����7�0b�e82����� (21±2°C) 5=����2�H4�2�
�2
�	
�� VOCs ��8?�	
���4?�� 8-150 mg L-1 �2;7�4��H�����H4�2�
�2
�	
������d��7C�BQ?�	 6�4?� H4�2�
�2
�	
�� 
VOC 2�H?�	����4?� 0.5 mg L-1 3B��2;7���H?�H4�2�
�2
�	
�� VOC �	41�e�H
����B4��7��=1�
H4�2B9�<?��A 6�4?� ��=1�H4�2B9�	����4?� 2 cm H4�2�
�2
�	
�� VOCs 2�����
B�7�	3
B��2;7�
������1��4B���?���1=�/	 3<?��7��=1�H4�2B9�2���4?� 2 cm H4�2�
�2
�	/�2�H?���B��H����1	<B�=
�����4B�d9�a�

Bunyakan et al. (2001)
d9�a���������
�� VOC 5=������a�����IcB�2�	��������
��5�B8��	 3B�

�2��	�B/��3�B?�	:T� 5=�H4�H02H4�2��y4B2�	�?4� 0 � 4.8 �2<�<?�4�	��� 3B��0b�e82�
��
3�B?�	:T��	�?4� 25 � 45 ��d��@B�@��� @97�6�4?���7�0b�e82�3�B?�	:T�H���7H?��12
�����L��IcB�23��� 
(kG) 2�H4�2�1261	L��1�H4�2��y4B23�����	<��<B�=�?4�
��H4�2��y4B2��7d9�a�<�2�2��� 1.31 
3B�H4�2�1261	L����4?���12
�����L��IcB�2
����B4 (kL) �1�H4�2��y4B2��2��R3�?�����
S	
����?4� 5=�2�/0=����
B�7�	3
B���8?��7H4�2��y4B2 ��?��1� 2.58 �2<�<?�4�	��� =1�3�=��	�2��� 
1.32 3B� 1.33 @97�6�4?���7H4�2��y4B2H�<14 kG 3B� kL /�2�H?��6�72
9:	 /��
��28B=1��B?�4��2��R
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61|	��
S	3��/T�B���6;7��T�	���1<����������
�� VOC /��3�B?�	:T�/T�B���	����
z��1<����
C=�=�

[ ]
5.0

3

10

3 04.32
 1025.21037.4)( 








×+×= −−

VOC

cmG
M

UVOCk (1.31)

�T���1� 0 ≤ U10 cm ≤ 4.80 �2<�<?�4�	���
3B�

[ ]
5.0

6

 10

6 14.92
 1071.91033.2)( 








×+×= −−

VOC

cmL
MW

UVOCk (1.32)

�T���1� 0 ≤ U10 cm ≤ 2.58 �2<�<?�4�	���

[ ]
5.0

5

 10

5 14.92
 1038.31089.1)( 








×+×= −−

VOC

cmL
MW

UVOCk (1.33)

�T���1� 2.58 ≤ U10 cm ≤ 4.80 �2<�<?�4�	���

�2;7� )(VOCskL = �12
�����L��IcB�2
����B4
�� VOC �=A, m s-1

)(VOCskG = �12
�����L��IcB�23���
�� VOC �=A, m s-1

U 10 cm = H4�2��y4B2��7���� 10 �@	<��2<���	;�Q�4	:T�, m s-1

MWVOC = 	:T��	1�
��52�B�0B
�� VOC �=A, g mol-1

Chin Hsieh (2000)
d9�a��BC���7���=
9:	�	����4	���<���	��?� 3B���3I��<�����72�QB<?����

�T�/1= VOC ���/������ 5=�����2=0B24B 3B�3��/T�B���174C
<�2�2���

biomadsLWLELIL
L rrrCQCQCQ

dt

dC
V −−−−−= (1.34)

�2;7� V = 
��2�<�
��3�B?�	:T� (m3)
CL  = H4�2�
�2
�	
����
����� (mg L-1)
CLI = H4�2�
�2
�	
��
��
����� (mg L-1)
T  = �4B� (d)
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QL  =  �1<�����C�B�
��
��	:T����� (m3 d-1)
QE = �1<�����C�B���
��	:T����� (m3 d-1)
QW = �1<�����
��<���	��:� (m3 d-1)
rm  = �1<������������� (g d-1)
rbio  =  �1<������?���B�����/0B�	����� (g d-1)
rads =  �1<�����=8=@1� (g d-1)

1. �1<�������������
�1<��������������2;7�2�����<�2����d�
S	C
<�2�2���

dLCGm SCHQr = (1.35)

�2;7� QG = �1<�����C�B
������d (m3 d-1)
HC = H?�H���7
����	��7 (Henry�s law constant)
Sd = H?������72<14
����� VOC �	I������d

2. �����H?��12
�����L������?���B�����/0B�	����� kb

�1<������?���B�����/0B�	�����
9:	��8?�1�H4�2�
�2
�	
�� VOC 5=� VOC ��72�
H4�2�
�2
�	�8��1<������?���B�����/0B�	�����/��
S	3��BT�=1���7d8	�� 3<?�T���1� VOC H4�2�
�2

�	<7T��1<������?���B�����/0B�	�����/��
S	3��BT�=1���7�	97� @97�3�=�=1��2�����7 1.36
(Namkung 3B� Rittmann, 1987)

Lbbbio VCxkr = (1.36)
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�2;7� kb  = �12
�����L������?���B�����/0B�	����� (m3 g VSS-d-1)
xb = H4�2�
�2
�	
��/0B�	�������7�1�4?��C4 (g VSS-d  m-3)
V = 
��2�<�
�����B�B��, m3

CL =  H4�2�
�2
�	
����
�������7<������ (mg L-1)

3. �1<�����=8=@1�
����4	���=8=@1����=/�����=8=@1����
�������	������	Q�4�	��
��3
y�

�	;7��/���	0e�H
��/0B�	�������;�
��3
y�3
4	B���		:T����� @97���2��R���1<�����=8=@1�C=�
/���2���

Lpwwads CkXQr = (1.37)

�2;7� XW  = H4�2�
�2
�	
���@BB���7<�� (g VSS-d /m3)
kp =  partition coefficient (m3/g VSS-d)
5=�H?� kp /�2�H4�2�1261	L��1�H?� partition coefficient 
�� �����	�B/	:T� (KOW) =1�	�:

owocp Kfk )103.6( 7−×= (1.38)

�2;7� foc = �1=�?4	
��H�����	��	������	
��3
y� (g organic carbon  gVSS-1)
Kow = octanol/water partition coefficient (m3 m-3octanol)

��b���H�
�����
���@BB�2�5H������� C5H7NO2 H?� foc /� ��?��1� 0.53 =1�	1:	
/�� �2�����7 1.37 ��2��R�
��	��2?C=��2���

Lpwwads CkXQr
71035.3 −×= (1.39)

5=�6�4?�H?� stripping removal 2�H?��6�72
9:	�2;7� VOC Henry�s constant �6�72
9:	 
3B� stripping rate B=B� 	��/��	1:	�2;7��6�72H4�2�
�2
�	
��/0B�	����� (active biomass 
concentration, Xb) 
�����L�e�6���R?��5�	���@��/	 (OTE) 3B������4B��1���y�	:T� (HRT) �?�
QB���H?�����T�/1= VOC �42/�2�H?��6�72
9:	=�4�
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Kemp et al. (2000)
d9�a������H?��12
�����L���1<��������C

�� VOC �����4e�6�	����

<���	��?�/��	:T�����H�14��;�	 3B�	:T������1��H����� �	
z���b�
	�= 24 B�<� 5=�2�H4�2�
�2
�	

��
��3
y�3
4	B�����4?�� 1000 3B� 2500 mg L-1 3B�H4�2�
�2
�	
�� VOC ��7�	�/��?��1� 
100 mg L-1 @97�6�4?�/0B�	������B0?2��7������@��/	 /�����1<��������C

�� VOC �8��0= 3B�H?� 
DO 3B� COD C2?2�QB<?��1<��������C

�� VOC �����4e�6��?��2�	1��T�H1>

Maeda et al. (2004)
d9�a�/B	�d��<������?���B�����/0B�	�����
�� o-cresol 5=��=B���	
z���b�


	�= 2 B�<� @97�2�H4�2�8� ��?��1� 65 cm 3B� ���	Q?�	d8	���B�� ��?��1� 7.5 cm H4�2�
�2
�	���72
<�	
�� o-cresol ��?��1� 300 mg L-1 
��2�b<���	/0B�	����� ��?��1� 2500 mg L-1 �<�2����d�	

z���b�=�4��1<�� 0.5 L min-1 �
S	�4B� 2 �17452� H?� pH �	����=B�� ��?��1� 7 3B��0b�e82� ��?�
�1� 25 °C @97�6�4?���2��R�L����5=�����2��� Haldane =1��2��� 1.40 3B�2�H?�3I��<���H4�2
R8�<�����?��1� 0.95

IS

m

s
KSSK

SXk
r

/2++
=  (1.40)

�2;7� rS = �1<������?���B�����/0B�	�����
�� o-cresol
km = µm/Y
µm = �1<������/��>�<��5<
��/0B�	�����
Y = ��424B�	�1���<�<
X = H4�2�
�2
�	
��/0B�	�����, mg L-1

S = H4�2�
�2
�	
�� o-cresol, mg L-1
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Nikolaou et al. (2002)
<�4/���
��2�b
�� VOC =�4�4�L� trap�gas chromatography�mass 

spectrometry method /��3�B?�	:T�<?��A C=�3�? 32?	:T� ���B��� 3B������T��1=	:T������	
����d
���@ ���4?���=;�	<0B�H2 
w 1998 R9� �1	���	 
w 1999 6�4?�32?	:T�2� VOC R9� 41 �	�= 	:T�����/��
�����T��1=2� VOC 31 �	�= 3B�H?��~B�7�
�� VOC /��3�B?��02�	 3B�5���T��1=	:T�����
��5��
��	2�H?� ��?��1� 229.35 µg/L 3B�����?4	C2?��2��R<�4/���C=�

/�1> 3B�Hb� (2543)
d9�a�QB
���0b�e82�<?��12
�����L�����R?��5�	24B���
������4	��������


�� VOC /��	:T� 5=��T����41=H?��12
�����L�����R?��5�	24B�	41�e�H3��� (kG) 3B��	      41�
e�H
����B4 (kL) ��7�0b�e82� 20 R9� 40 ��d��@B�@��� 
���2��	�B3B�5�B8��	��7H4�2�
�2
�	���72
<�	 1000 3B� 200 2�/B�<� <�2BT�=1� @97�6�4?�H?��12
�����L�����R?��5�	24B (KOLa, kG, kL) /�
3
�Q1	<�2�0b�e82� 5=���2��R�����3��/T�B��3�=�H4�2�1261	L����4?��H?��12
�����L�����
R?��5�	24B�42 (KOLa, kG, kL) �1��0b�e82� �����8?�	�8

���2����������	��� 5=�����12
�����L�
���36�? (diffusion coefficient) �6;7������2��R
���0�<�����1� VOC �	�=�;7	 C=�<�2�2��� 1.36
3B� 1.37 @97�H?���7C=�/������=B����=HB����1�H?���7C=�/������T�	��=�4�3��/T�B��
























 −=
−

−

watertoluene

waterVOC

L
D

D

T
VOCsk

9.3805
exp0.1)(

�T���1� 293 ≤ T ≤ 313 K (1.41)
























×=
−

−−

watermethanol

waterVOC
G

D

D

T
VOCsk

3.2266
exp1032.1)( 5

�T���1� 293 ≤ T ≤ 313 K (1.42)

�2;7� )(VOCskL = �12
�����L��IcB�2
����B4
�� VOC, m s-1

)(VOCskG = �12
�����L��IcB�23���
�� VOC, m s-1

T = �0b�e82�
��41�e�H
����B4, K

waterVOCD − = �12
�����L�����36�?
�� VOC �		:T���7�0b�e82� T, cm2 s-1

watertolueneD − = �12
�����L�����36�?
��5�B8��	�		:T���7�0b�e82� T, cm2 s-1
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watermethanolD − = �12
�����L�����36�?
���2��	�B�		:T���7�0b�e82� T, cm2 s-1

/�1> 3B�Hb� (2544)
d9�a���������
�� VOC /��3�B?�	:T�/T�B����7�0b�e82�3B�H4�2�
�2
�	

�27T���2� �6;7���H?�IB1�@���������
�� VOC ��7�����/��3�B?�	:T�
��
��Q�2���4?�� �2��B ��
��B H�5<	 (MEK) 3B���@�5<	 �6;7��
���������H?���741=C=��1�H?���7�T�	��5=������a�����IcB�2 
3B���������
����@�5<	/��3�B?�	:T�e���<�H4�2��y4C2?H�<14 /������=B��6�4?� IB1�@����
�����
�� VOC 3<?B��	�=
�� VOC ��7Q�2�1	C2?2�H4�23<�<?����?��2�	1��T�H1> 3B�QB���
����� 
����@�5<	/��3�B?�	:T�e���<�H4�2��y4C2?H�<14��2��R	T�C
���61|	��2�����y26���H1B

���12
�����L�����R?��5�	24B�	�����H?�IB1�@��~B�7�
�� VOC �	�?4��4B���7�	�/C=�


����e�b� (2543)
d9�a���������
�� VOC /��R1������5=�H4�H02H4�2��y4B2��	;�Q�4	:T� �	

�?4� 0-4.80 m s-1 3B��0b�e82�
��3�B?�	:T��	�?4� 25-45 °C 5=������az����IcB�2 6�4?�H?�
�12
�����L��IcB�2
��3��� (kG) 2�H4�2�1261	L��1�H4�2��y4B23�����	<�� <B�=�?4�H4�2��y4B2
��7d9�a� �	
b���7H4�2�1261	L����4?��H?��12
�����L��IcB�2
����B4 (kL)��2��R3�?�C=��
S	���
�?4�5=�2�/0=����
B�7�	3
B�H4�2��y4B2��?��1� 2.58 m s-1 3B��2;7��0b�e82�
��3�B?�	:T��6�72
9:	H?� 
kL 3B� kG 2�H?��6�72
9:	��?	�1	 /���2�����y26���H1B
�� kL 3B� kG ��7C=�/�����d9�a��2;7�����1<��
�?4	���4?��	:T��	1�52�B�0B
������������<?�	:T��	1�
��52�B�0B
�� VOC ��7�	�/���T�B1� 0.5 
�
S	<14
�1�3�� 6�4?���2��R�T�	���1<����������C=���B��H����1�H?�/������=B��

�2��e�b� (2544)
d9�a���������
�� VOC /��3�B?�	:T�5=�41=H?���������
�� VOC �	�8

��

�12
�����L��IcB�23��� (kGa) 3B��12
�����L��IcB�2
����B4 (kLa) /����������
���2��	�B3B�
5�B8��	 5=�	T���	��2�����y26���H1B��73�=�H4�2�1261	L�
���12
�����L��IcB�23��� (kGa) 3B�
�12
�����L��IcB�2
����B4 (kLa) �1�<143
��;7	A C=�3�? H4�2��y4���
������4	 3B��0b�e82�

��3�B?�	:T� =1��2��� 1.43 3B� 1.44 5=��2;7��
���������H?���7C=�/������=B���1��2�����y26���
H1B��7C=� 6�4?�2�H4�2��=HB����1	=� 	��/��	1:	����<�2 sodium dodecyl sulphate (SDS) /��
S	
���B=�1<����������
�� VOC ��7H4�H025=�IcB�23���3B�IcB�2
����B4C=�=� 5=�H?�
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�12
�����L��IcB�23��� (kGa) B=B�����B� 76 3B��12
�����L��IcB�2
����B4 (kLa) B=B�����B� 72 
�2;7�������1���b���7C2?2�����<�2 SDS











×+×=

−

−−−

liqref

liqVOC

L
D

D
VOCak )Re1062.51094.1()( 62.1137 (1.43)











×+×=

−

−−−

airref

airVOC

G
D

D
VOCak )Re1024.31055.3()( 94.084 (1.44)

�T���1� 0 ≤ Re ≤ 2.05×105 3B� 300.15 K ≤ T ≤ 327.15 K

5.0

7 )))15.300(0556.0)(exp(1094.1()( 







−×= −

VOC

Toluene

L
M

M
TVOCak (1.45)

5.0

4 )))15.300(0206.0)(exp(1055.3()( 







−×= −

VOC

Methanol

G
M

M
TVOCak (1.46)

�T���1� 300.15 K ≤ T ≤ 331.15 K  3B� Re = Reynolds number

��
���
�����

1. �6;7�d9�a�QB
��H4�2��y4B2��	;�Q�4	:T� H4�2B9�
��3�B?�	:T����� 3B�H?�
��3
y���7
3
4	B��<?���������
����� VOC /��	:T�����

2. �6;7�d9�a��BC�����?���B��5=�/0B�	�����
�� VOC �		:T�������7d9�a�
3. �6;7�61|	�3B�<�4/���H4�2R8�<���
��3��/T�B���T���1��T�	����������
�� VOC

/��	:T������	��=1�����
z��1<����

 �
��� ������	!�"	��#!�
��

1. �
���/
.//1���72�QB<?���������
�� VOC /��	:T�����/���
2. C=�3��/T�B����7	T�C
���
��5��	��	����T�	���1<����������
�� VOC /��3�B?�	:T�

����/���




